T&T6 4.4 Geometric Sequences

January 14, 2015

{ Example 2 )

In a geometric sequence, T3 =32 and T, = 4.

Find a and r and hence write down the first six terms of the sequence.
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123, 64,32,16, 8, 4,2 ...

(Example 3 )

3,x,x+6,...
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are the first three terms of a geometric sequence of positive terms.

(ii) the tenth term of the sequence.
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3. Given T, =12 and Ts=324.find @ and r and hence write down the first five terms

of the sequence.
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4,18, 36, 10¢, 324

5. Write down the first five terms of the geometric sequence that has a second term 4 and
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7. The three numbers n — 2, nand n + 3 are the first three terms of a geometric

sequence. Find the value of n and hence write down the first four terms of the sequence.
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